1248 £SBEEEE E3 =
» K i
S 2013481 16H (%) 15:00 [ Raim | HHx3 | 252 EREATRRR T V15
X 1% [ | EyFiREE NI E 2EBRZ [ RE §7)% & gE [ T
EES R 55/ FiE B HiE: HREXRE |
HIES BAR EX ke ER XF
-V . 0 e 5 1 oM W
T‘—' LY $
BWAXE 2 0 YRIEKZF
KICK OFF __ _ 2 e 0 _ IKICK OFP> |
R < a—pk %5 . &l 1 |&E . = a—k RS
B3 52| 90]75[60[45]|30] 15| 5t | = _’gq{'% 5| B [§ ,g_ig & 1] 15]30[45[60]75]90] 4 [&5]
0 EEEES 1 [GKJGK] 1 AT B2 0 70
HT 0 mLll 2 [DF|DF| 75| =& EA 0
0 NI BAE 4 [DF|DF| 15| %F K% 0 70
HT 1 1 He #2 | 3 |[DF|DF|61] = &BA 0 70
0 ZH BEA 5 |DF|DF[85] /& #& 0 HT
HT 0 Iy EBE 6 [MF[MF| 17 EiE 3[1:i1:1 HT
0 WEAEEE: 7 IMFIMF[ 1] /NE B #t 0 70
1 1 Hd XER 8 [MFIMF| 87| JIli% =5 0 70
85 1 1 all 3 10[MF|MF| 84] X#FHF EBEFH 1 1 HT
HT 0 i B | 12[FwlFw] 4 REIEYS 0 HT
77 1] 2 =& i |11[FwWlFw|58] EERE BA 1]1 14
3 0 =l #EE  [15|DF|GK[ 21| /I Fh 0 1
2 0 fha =% |[20[DF|DF[29] HIL Hih 1 1 15
6 0 E@A E—ER |23[MF]DF]| 41 By XiE 0 61
10 0 INEAR BX |29|MF|DF|50| /&t BE 0 85
11 0 i —& |[28|[FwlMF|25] KR EF 1 1 17
12 2 2| 2 =1 34[FWIMF| 33| EH HE 1 1 11
MF| 65| Az0 &3l 0 87
MF| 86 F BEE 0 84
FWl(48| A%y EE 1 1 4
FW| 57 E 1 1 58
Z2&5-R 5 EE BB Z2&5-R 5
SIEREELE K % HE B EH B e | K £
LIRS F—LEE CIERC£2
4 3 7 [>a—K] 10 5 5
6 4 10 G K 5 4 1
3 4 7 C K 4 0 4
6 5 11 | EEFK]| 14 9 5
1 3 4 | BEFK]| 3 2 1
1 3 4 | @) 3 2 1
0 0 0 P K 0 0 0
[&&]
GEN) ATV AFEOHEFR. BT —F 98035, A THIRIZLZEDERL TS,
[Z£BA] CLRAR—YIITA. C2577 LA, C:Ri. C4#RYELDER. C5BETA. CoIRTE. CTENAA, Co-EH A=
GRIFEH] SUELLLFELT LA, S2EBH1T4A. S3D(EMHE, S4B AMEMIE(F). S5:B5 AL (). S6:fEF. CS:ZE&2(H
B | F—L e T AR BARB (~ RUTIL, = F59URRR, 1 5FEH/IR, S:va—k HAFA2Y)

88 BX |34 o E Z-2i 15 i Aybi — ifhR-1i 34 ~ KRS
90+1| BX |34 wno i 29 MRS BEX thg-1; 29 - 34 i H/RS




